

Progress in Fractional Differentiation and Applications An International Journal

http://dx.doi.org/10.18576/pfda/10308

# Atomic Solution for Fractional Non-linear Burgers Equation of Conformable Type

Hasan Almefleh<sup>1</sup>, Ameerah Al Jarrah<sup>1</sup>, Jamila Jawdat <sup>2,\*</sup> and Sharifa Alsharif<sup>1</sup>

<sup>1</sup> Department of Mathematics, Faculty of Science, Yarmouk University, Irbid, Jordan <sup>2</sup> Department of Mathematics, Faculty of Science, Zarqa University, Zarqa, Jordan

Received: 26 Apr. 2023, Revised: 06 Jun. 2023, Accepted: 08 Jun. 2023 Published online: 1 Jul. 2024

Abstract: In this paper we present a new method for solving the fractional Burgers equation

$$u_t^{\alpha} - u u_x^{\alpha} = u_x^{\alpha \alpha},\tag{1}$$

where u is a continuously differentiable function on  $[0,\infty)$ . In this method an exact solution is obtained to the above equation using tensor product techniques. Exact solutions of nonlinear partial differential equations similar to this one are hard to find.

Keywords: Conformable fractional derivative, Burgers equation, tensor product, atomic solution.

#### **1** Introduction

In 1915 an English mathematician named Harry Bateman [1], while studying the motion of viscous fluid, introduced a very important nonlinear partial differential equation.

$$\frac{\partial u}{\partial t} - u \frac{\partial u}{\partial x} = v \frac{\partial^2 u}{\partial x^2}.$$
(2)

After that in 1948, a Dutch physicist Johannes Martinus, Burgers [2], studied this equation extensively, later named after him as Burgers equation.

Burgers equation forms a standard test problem for PDE solvers. In addition, it is used in boundary Layer calculation of a viscous fluid flow and in other various fields such as gas dynamics, aspect turbulence, nonlinear wave propagation, traffic flow shock wave theory, cosmology, and molecular interfaces. Burgers equation has been solved numerically by different methods see [3,4,5,6,7,8]. Fractional Burgers equation has also attracted many Mathematicians who gave numerical solution by different techniques see [9,10,11,12].

In this paper we tackle the fractional Burger's equation by using the tensor product techniques to get an exact solution.

## 2 Fractional derivative

In recent years, many differential equations have been generalized to a random (non-integer) order as fractional differential equations. Due to their ability to model complex phenomena, they attracted much attention and were used widely in engineering, science, and other fields.

Fractional derivatives got different definitions as Riemann-Liouville, Caputo, Caputo-Frabrizio, Hadamard, and others [13]. In this paper, we focus on the conformable derivative which was originally defined by Khalil and others, [14, 15] using the limit approach. Here, we briefly recall some definitions and properties of such fractional derivative.

<sup>\*</sup> Corresponding author e-mail: jjawdat@zu.edu.jo

**Definition 1.** [15] Let h be a function defined from  $[0,\infty)$  into  $\mathbb{R}$ . The  $\alpha^{th}$  order fractional derivative of h is defined by

$$D^{\alpha}(h)(t) = \lim_{\varepsilon \to 0} \frac{h(t + \varepsilon t^{1-\alpha}) - h(t)}{\varepsilon},$$
(3)

for all t > 0,  $\alpha \in (0,1]$ . If h is  $\alpha$ -differentiable in some (0,b), b > 0 and  $\lim_{t \to 0^+} D^{\alpha}(h)(t)$  exists, then  $D^{\alpha}(h)(0) = \lim_{t \to 0^+} D^{\alpha}(h)(t)$ .

Let  $h^{(\alpha)}(t)$  stands for  $D^{\alpha}(h)(t)$ . If  $\alpha = 1$ , Definition 1, turns to be the definition of usual first order derivative,

$$h'(t) = \lim_{\varepsilon \to 0} \frac{h(t+\varepsilon) - h(t)}{\varepsilon}.$$
(4)

In 2017, S.H. Al-Sharif and A. Malkawi gave a generalization of the previous definition as follows.

**Definition 2.** [14] Let h be a function defined from  $[0,\infty)$  into  $\mathbb{R}$ , the  $\alpha^{th}$  order fractional derivative of h is defined by

$$h^{(\alpha)}(t) = \lim_{\varepsilon \to 0} \frac{h(tq(\varepsilon t^{-\alpha})) - h(t)}{\varepsilon},$$
(5)

where q is any positive continuously differentiable function such that q(0) = q'(0) = 1, for all t > 0,  $\alpha \in (0,1]$ . If h is  $\alpha$ -differentiable in (0,b), b > 0 and  $\lim_{t \to 0^+} h^{(\alpha)}(t)$  exists, then  $h^{(\alpha)}(0) = \lim_{t \to 0^+} h^{(\alpha)}(t)$ .

**Theorem 1.** [14] Let  $\alpha \in (0,1]$ , h and w be two  $\alpha$ -differentiable functions at a point t > 0. Then

1.  $(sh + zw)^{(\alpha)}(t) = sh^{(\alpha)}(t) + zw^{(\alpha)}(t)$ , for all  $s, z \in \mathbb{R}$ . 2.  $K^{(\alpha)} = 0$ , for all constant functions h(t) = K. 3.  $(t^n)^{(\alpha)} = nt^{n-\alpha}$ . 4.  $(hw)^{(\alpha)}(t) = w(t)h^{(\alpha)}(t) + h(t)(w)^{(\alpha)}(t)$ . 5.  $D^{\alpha}(\frac{h}{w})(t) = \frac{w(t)h^{(\alpha)}(t) - h(t)w^{(\alpha)}(t)}{w^2(t)}$ . 6. If h is differentiable, then  $h^{(\alpha)}(t) = t^{1-\alpha} \frac{d}{dt}(h(t))$ .

As a consequence of Theorem 1, we have the following theorem.

**Theorem 2.** [14] Let  $b \in \mathbb{R}$  and  $\alpha \in (0, 1]$ . Then

1.  $(e^{bt})^{(\alpha)} = bt^{1-\alpha}e^{bt}$ . 2.  $(\sin(bt))^{(\alpha)} = bt^{1-\alpha}\cos(bt)$ . 3.  $(\cos(bt))^{(\alpha)} = -bt^{1-\alpha}\sin(bt)$ . 4.  $(\frac{1}{\alpha}t^{\alpha})^{(\alpha)} = 1$ .

Let  $P^*$ ,  $Q^*$  be the duals of the two Banach spaces P and Q respectively. For  $(p,q) \in P \times Q$ , define the linear operator  $p \otimes q$  by

 $p \otimes q : P^* \longrightarrow Q$ ,

as

$$(p \otimes q)(p^*) = \langle p, p^* \rangle q, \tag{6}$$

where  $\langle p, p^* \rangle$  denotes  $p^*(p)$ . The expression  $p \otimes q$  is called an atom. It can be shown easily that  $p \otimes q$  is bounded and has a norm  $||p \otimes q|| = ||p|| ||q||$ .

The following Lemma provides some properties of these atoms.

**Lemma 1.** [16] For any  $p, t \in P$  and  $q, z \in Q$ , then we have,

1.  $\beta(p \otimes q) = \beta p \otimes q = p \otimes \beta q$ , where  $\beta$  any scalar. 2.  $(p+t) \otimes q = p \otimes q + t \otimes q$ . 3.  $p \otimes (q+z) = p \otimes q + p \otimes z$ .

425

#### 4. $p \otimes 0 = 0 \otimes q = 0 \otimes 0$ .

**Definition 3.** [16] The tensor product  $P \otimes Q := span\{p \otimes q : p \in P, q \in Q\}$ , is a subspace of  $\mathscr{L}(P^*, Q)$ ; where  $\mathscr{L}(P^*, Q)$  denotes the space of all continuous linear operators from  $P^*$  into Q.  $P \otimes Q$  represents the subspace of finite rank operators in  $\mathscr{L}(P^*, Q)$ .

Notice that, for any element  $T \in P \otimes Q$ , then  $T = \sum_{j=1}^{m} p_j \otimes q_j$ ;  $p_j \in P$ ,  $q_j \in Q$ ,  $1 \le j \le m$ , for  $m \in \mathbb{N}$ . Moreover, T can be also represented as,

$$T = \sum_{j=1}^{n} \lambda_j (p_j \otimes q_j), ||p_j|| = ||q_j|| = 1, \text{ for some } n \in \mathbb{N} \text{ and } \lambda'_j \text{ s are scalars.}$$

Two more properties of such operators are the followings,

$$\beta \sum_{j=1}^{m} p_j \otimes q_j = \sum_{j=1}^{m} \beta p_j \otimes q_j = \sum_{j=1}^{m} p_j \otimes \beta q_j, \text{ for any scalar } \beta,$$
(7)

and

$$\sum_{j=1}^{k} p_j \otimes q_j + \sum_{j=k+1}^{m} p_j \otimes q_j = \sum_{j=1}^{m} p_j \otimes q_j, \text{ for } k < m.$$
(8)

In spite of the different norms that can be imposed on  $P \otimes Q$ , the projective and the injective norms remain the most popular ones.

**Definition 4.** [16] Let  $T = \sum_{j=1}^{m} p_j \otimes q_j \in P \otimes Q$ , define the projective norm on  $P \otimes Q$  as

$$||T||_{\wedge} = \inf\left\{\sum_{j=1}^{m} ||p_j|| \ ||q_j|| \ : \ p_j \in P, \ q_j \in Q\right\}.$$
(9)

**Definition 5.** [16] Let  $S = \sum_{i=1}^{m} p_i \otimes q_i \in P \otimes Q$ , define the *injective norm* on  $P \otimes Q$  as

$$||S||_{\vee} = \sup\left\{\sum_{j=1}^{m} |\langle p_j, p^* \rangle \langle q_j, q^* \rangle|, \ \forall \ p^* \otimes q^* \in P^* \otimes Q^*: \ ||p^*|| = ||q^*|| = 1\right\}.$$
(10)

Note that, the spaces  $(P \otimes Q, ||.||_{\vee})$  and  $(P \otimes Q, ||.||_{\wedge})$  are not complete. The completion of  $P \otimes Q$  with respect to the injective (respectively, projective) norm, is denoted by  $P \overset{\vee}{\otimes} Q$  (respectively,  $P \overset{\wedge}{\otimes} Q$ ). For more on the theory of tensor products we refer to [16].

It is known [16], that if *S* is a compact Hausdorff space and *Q* is a Banach space, then C(S,Q) is isometrically isomorphic to  $C(S) \otimes Q$ . If Q = C(T) then  $C(S \times T)$  is isometrically isomorphic to  $C(S) \bigotimes^{\vee} C(T)$ . Hence, for any  $u(s,t) \in C(S \times T)$ , u(s,t) can be seen as an element of  $C(S) \bigotimes^{\vee} C(T)$  in the form  $\sum_{j=1}^{\infty} R_j \otimes W_j$ ;  $R_j \in C(S)$  and  $W_j \in C(T)$ . If the sum is finite, j = 1, 2, 3, ..., m, then the solution  $u(s,t) = \sum_{j=1}^{m} R_j \otimes W_j$  is represented by a finite rank operator. If m = 1, then the solution (if exists) to the differential equation, which is represented by one atom  $u(s,t) = R \otimes W$ , is called an **atomic solution**.

It had been proved that atomic solutions for certain ordinary and fractional differential equations exist such as Gardner equation, first and second order abstract Cauchy problems. For that see [17, 18, 19]. In this paper, (sections 3 and 4), we prove that fractional Burgers equation has an atomic solution.

#### 3 Linear form

In this section an atomic solution of a linear form of fractional partial differential equations is presented.

The following Lemma plays a great role in the success of the atomic solution method to prove the existence of analytic solutions to some partial differential equations.



**Lemma 2.** [19] Let  $p_1 \otimes q_1$  and  $p_2 \otimes q_2$  be two non zero atoms in  $P \otimes Q$ . Then the following are equivalent:

1.  $p_1 \otimes q_1 + p_2 \otimes q_2 = p_3 \otimes q_3$  is a non zero atom. 2.  $p_1, p_2$  or  $q_1, q_2$  are linearly dependent.

**Theorem 3.** If  $u \in C(S \times T)$ , where  $S, T \in \{[0,1], [0,\infty)\}$  and the second fractional partial derivatives of u exist for some  $\alpha$  in (0,1), then the differential equation

$$u_t^{(\alpha)} + u_x^{(\alpha)} = u_x^{(\alpha\alpha)},\tag{11}$$

has an atomic solution.

*Proof.* Let  $u(x,t) = R \otimes W$ , R = R(x), and W = W(t). Then  $u_t^{(\alpha)} = R \otimes W^{(\alpha)}$ ,  $u_x^{(\alpha)} = R^{(\alpha)} \otimes W$  and  $u_x^{(\alpha\alpha)} = R^{(\alpha\alpha)} \otimes W$ . So, the equation (11) becomes

$$R \otimes W^{(\alpha)} + R^{(\alpha)} \otimes W = R^{(\alpha\alpha)} \otimes W$$
$$R^{(\alpha\alpha)} \otimes W - R^{(\alpha)} \otimes W = R \otimes W^{(\alpha)}$$
$$[R^{(\alpha\alpha)} - R^{(\alpha)}] \otimes W = R \otimes W^{(\alpha)}.$$

Now, since two atoms are equal then  $R^{(\alpha\alpha)} - R^{(\alpha)} = R$  and  $W = W^{(\alpha)}$ .

In the first step, we solve  $W = W^{(\alpha)}$ , as follows.

$$W^{-1}W^{(\alpha)} = 1$$
$$\int W^{-1}d_{\alpha}W = \int d_{\alpha}t$$
$$ln(W) = (\frac{1}{\alpha})t^{\alpha}$$
$$W(t) = e^{\frac{t^{\alpha}}{\alpha}}$$

As a second step, we solve  $R^{(\alpha\alpha)} - R^{(\alpha)} = R$ , equivalently  $R^{(\alpha\alpha)} - R^{(\alpha)} - R = 0$ . Let us assume that  $R = e^{\eta \frac{x^{\alpha}}{\alpha}}$ , this implies  $R^{(\alpha)} = \eta e^{\eta \frac{x^{\alpha}}{\alpha}}$  and  $R^{(\alpha\alpha)} = \eta^2 e^{\eta \frac{x^{\alpha}}{\alpha}}$ , then

$$R^{(\alpha\alpha)} - R^{(\alpha)} - R = 0,$$
  
$$\eta^2 e^{\eta \frac{x^{\alpha}}{\alpha}} - \eta e^{\eta \frac{x^{\alpha}}{\alpha}} - e^{\eta \frac{x^{\alpha}}{\alpha}} = 0$$
  
$$e^{\eta \frac{x^{\alpha}}{\alpha}} [\eta^2 - \eta - 1] = 0.$$

Since  $e^{\eta \frac{x^{\alpha}}{\alpha}} \neq 0$ , then  $\eta^2 - \eta - 1 = 0$ , and we get the two roots,

$$\eta_1 = \frac{1+\sqrt{5}}{2}$$
, and  $\eta_2 = \frac{1-\sqrt{5}}{2}$ .

So  $R(x) = c_1 e^{\eta_1 \frac{x^{\alpha}}{\alpha}} + c_2 e^{\eta_2 \frac{x^{\alpha}}{\alpha}} = c_1 e^{(\frac{1+\sqrt{5}}{2})\frac{x^{\alpha}}{\alpha}} + c_2 e^{(\frac{1-\sqrt{5}}{2})\frac{x^{\alpha}}{\alpha}}.$ Then  $u(x,t) = R \otimes W$ , where  $W(t) = e^{(\frac{1}{\alpha})t^{\alpha}}$  and  $R(x) = c_1 e^{(\frac{1+\sqrt{5}}{2})\frac{x^{\alpha}}{\alpha}} + c_2 e^{(\frac{1-\sqrt{5}}{2})\frac{x^{\alpha}}{\alpha}}.$ 

**Theorem 4.** Let  $u \in C(S \times T)$ , where  $S, T \in \{[0,1], [0,\infty)\}$ . If u is twice  $\alpha$ -differentiable for some  $\alpha \in (0,1)$  and f is a continuous function of the variable t, then the fractional partial differential equation

$$u_t^{(\alpha)} + f u_x^{(\alpha)} = u_x^{(\alpha\alpha)},\tag{12}$$

has an atomic solution.

*Proof.* Let  $u(x,t) = R \otimes W$ , where *R* and *W* are functions of *x* and *t* respectively, then  $u_t^{(\alpha)} = R \otimes W^{(\alpha)}$ ,  $u_x^{(\alpha)} = R^{(\alpha)} \otimes W$  and  $u_x^{(\alpha\alpha)} = R^{(\alpha\alpha)} \otimes W$ 

So equation (12) becomes

$$R \otimes W^{(\alpha)} + f[R^{(\alpha)} \otimes W] = R^{(\alpha\alpha)} \otimes W,$$
$$R \otimes W^{(\alpha)} + R^{(\alpha)} \otimes fW = R^{(\alpha\alpha)} \otimes W,$$
$$R^{(\alpha\alpha)} \otimes W - R^{(\alpha)} \otimes fW = R \otimes W^{(\alpha)}.$$

Now, by using Lemma 2 we have either  $R^{(\alpha\alpha)} = R^{(\alpha)}$  or W = -fW.

**Case (1).** If W = -fW, then f = -1, implies  $[R^{(\alpha\alpha)} + R^{(\alpha)}] \otimes W = R \otimes W^{(\alpha)}$ , then  $R^{(\alpha\alpha)} + R^{(\alpha)} = R$  and  $W = W^{(\alpha)}$ . For  $R^{(\alpha\alpha)} + R^{(\alpha)} = R$ , we may assume  $R = e^{\eta \frac{x^{\alpha}}{\alpha}}$ . This implies  $R^{(\alpha)} = \eta e^{\eta \frac{x^{\alpha}}{\alpha}}$  and  $R^{(\alpha\alpha)} = \eta^2 e^{\eta \frac{x^{\alpha}}{\alpha}}$ , hence

$$\begin{split} R^{(\alpha\alpha)} + R^{(\alpha)} - R &= 0, \\ \eta^2 e^{\eta \frac{x^{\alpha}}{\alpha}} + \eta e^{\eta \frac{x^{\alpha}}{\alpha}} - e^{\eta \frac{x^{\alpha}}{\alpha}} = 0, \\ e^{\eta \frac{x^{\alpha}}{\alpha}} [\eta^2 + \eta - 1] &= 0. \end{split}$$

But  $e^{\eta \frac{x^{\alpha}}{\alpha}} \neq 0$ , then  $\eta^2 + \eta - 1 = 0$  which implies  $\eta_1 = \frac{-1 - \sqrt{5}}{2}$  and  $\eta_2 = \frac{-1 + \sqrt{5}}{2}$ . So  $R(x) = c_1 e^{\eta_1 \frac{x^{\alpha}}{\alpha}} + c_2 e^{\eta_2 \frac{x^{\alpha}}{\alpha}}$  where  $c_1, c_2 \in \mathbb{R}$ , any two real numbers.

Also,  $W = W^{(\alpha)}$ , then

$$W^{(\alpha)} = W$$
$$W^{-1}W^{(\alpha)} = 1$$
$$\int W^{-1}d_{\alpha}W = \int d_{\alpha}t$$
$$ln(W) = \frac{t^{\alpha}}{\alpha}$$
$$W(t) = e^{\frac{t^{\alpha}}{\alpha}}.$$

Therefore,  $u(x,t) = R \otimes W$ , where  $W(t) = e^{\frac{t^{\alpha}}{\alpha}}$  and  $R(x) = c_1 e^{\eta_1 \frac{x^{\alpha}}{\alpha}} + c_2 e^{\eta_2 \frac{x^{\alpha}}{\alpha}}$ . But this solution is a special case when f = -1. We aim to obtain the general form of a solution that is dependent on f(t), hence we have to go through the other case.

**Case (2).** If  $R^{(\alpha\alpha)} = R^{(\alpha)}$ , then assume  $R = e^{\eta \frac{x^{\alpha}}{\alpha}}$ , this implies  $R^{(\alpha)} = \eta e^{\eta \frac{x^{\alpha}}{\alpha}}$  and  $R^{(\alpha\alpha)} = \eta^2 e^{\eta \frac{x^{\alpha}}{\alpha}}$ , hence

$$R^{(\alpha\alpha)} - R^{(\alpha)} = 0,$$
  
$$\eta^2 e^{\eta \frac{x^{\alpha}}{\alpha}} - \eta e^{\eta \frac{x^{\alpha}}{\alpha}} = 0,$$
  
$$e^{\eta \frac{x^{\alpha}}{\alpha}} [\eta^2 - \eta] = 0.$$

Since  $e^{\eta \frac{x^{\alpha}}{\alpha}} \neq 0$ , then  $\eta^2 - \eta = 0$ , which implies  $\eta_1 = 0$  and  $\eta_2 = 1$ . So  $R(x) = c_1 e^{\eta_1 \frac{x^{\alpha}}{\alpha}} + c_2 e^{\eta_2 \frac{x^{\alpha}}{\alpha}} = c_1 + c_2 e^{\frac{x^{\alpha}}{\alpha}}$ , where  $c_1, c_2$  are real numbers.

Therefore

$$R^{(\alpha\alpha)} \otimes W - R^{(\alpha)} \otimes fW = R \otimes W^{(\alpha)},$$
$$R^{(\alpha)} \otimes W - R^{(\alpha)} \otimes fW = R \otimes W^{(\alpha)},$$
$$R^{(\alpha)} \otimes [W - fW] = R \otimes W^{(\alpha)}.$$

Now, since we have two atoms are equal then  $R^{(\alpha)} = R$  and  $[W - fW] = W^{(\alpha)}$ .

First step, when  $R^{(\alpha)} = R$  then we must take  $c_1 = 0$ , and hence we have  $R^{(\alpha\alpha)} = R^{(\alpha)} = R = c_2 e^{\frac{x^{\alpha}}{\alpha}}$ .



Second step, for  $W^{(\alpha)} = [W - fW]$ , we get

$$W^{(\alpha)} = [1-f]W$$
$$W^{-1}W^{(\alpha)} = [1-f]$$
$$\int W^{-1}d_{\alpha}W = \int [1-f]d_{\alpha}t$$
$$ln(W) = \int [1-f]d_{\alpha}t$$
$$W(t) = e^{\int [1-f]d_{\alpha}t}.$$

Now to verify that  $R \otimes W$  is a solution of (12). Set  $R^{(\alpha\alpha)} = R^{(\alpha)} = R$ , then

$$R \otimes W^{(\alpha)} + f[R^{(\alpha)} \otimes W] = R^{(\alpha\alpha)} \otimes W^{(\alpha)} + R^{(\alpha\alpha)} \otimes fW$$
$$= R^{(\alpha\alpha)} \otimes [W^{(\alpha)} + fW]$$

and since  $W^{(\alpha)} = [W - fW]$  implies  $W = \left[W^{(\alpha)} + fW\right]$ , then

$$R \otimes W^{(\alpha)} + f[R^{(\alpha)} \otimes W] = R^{(\alpha\alpha)} \otimes W.$$

Therefore, the atomic solution of (12) is  $u(x,t) = R \otimes W$ , where  $W(t) = e^{\int [1-f] d\alpha t}$  and  $R(x) = c_2 e^{\frac{x^{\alpha}}{\alpha}}$ .

## 4 Fractional non-linear Burgers equation

**Theorem 5.** Let  $u \in C(S \times T)$ , where  $S, T \in \{[0,1], [0,\infty)\}$ . If the second fractional partial derivatives of u exist for some  $\alpha \in (0,1)$ , then the differential equation

$$u_t^{(\alpha)} + u u_x^{(\alpha)} = u_x^{(\alpha\alpha)},\tag{13}$$

has an atomic solution.

*Proof.* Let  $u(x,t) = R \otimes W$ , where *R* and *W* are functions of *x* and *t* respectively, then  $u_t^{(\alpha)} = R \otimes W^{(\alpha)}$ ,  $u_x^{(\alpha)} = R^{(\alpha)} \otimes W$  and  $u_x^{(\alpha\alpha)} = R^{(\alpha\alpha)} \otimes W$ . So, equation (13) becomes

$$R \otimes W^{(\alpha)} + [R \otimes W][R^{(\alpha)} \otimes W] = R^{(\alpha\alpha)} \otimes W,$$
  

$$R \otimes W^{(\alpha)} + RR^{(\alpha)} \otimes W^{2} = R^{(\alpha\alpha)} \otimes W,$$
  

$$R^{(\alpha\alpha)} \otimes W - RR^{(\alpha)} \otimes W^{2} = R \otimes W^{(\alpha)}.$$
(14)

Now, by using Lemma 2, we have either  $R^{(\alpha\alpha)} = RR^{(\alpha)}$  or  $W^2 = W$ .

**Case** (1). If  $R^{(\alpha\alpha)} = RR^{(\alpha)}$ , then equation (14) becomes

$$RR^{(\alpha)} \otimes W - RR^{(\alpha)} \otimes W^2 = R \otimes W^{(\alpha)},$$
$$RR^{(\alpha)} \otimes (W - W^2) = R \otimes W^{(\alpha)}.$$

Hence,  $RR^{(\alpha)} = R$  and  $W - W^2 = W^{(\alpha)}$ , since  $R^{(\alpha\alpha)} = RR^{(\alpha)}$ . Now, let  $R^{(\alpha)} = y$  then  $R^{(\alpha\alpha)} = y^{(\alpha)}$  and by chain rule we have  $y^{(\alpha)} = y'(R)R^{(\alpha)} = y'y$ . So

$$R^{(\alpha\alpha)} = RR^{(\alpha)},$$
  

$$y'y = Ry,$$
  

$$\int dy = \int RdR,$$
  

$$y = \frac{1}{2}R^{2},$$
  

$$R^{(\alpha)} = \frac{1}{2}R^{2},$$
  

$$\int R^{-2}d_{\alpha}R = \frac{1}{2}\int d_{\alpha}x,$$
  

$$-R^{-1} = (\frac{1}{2\alpha})x^{\alpha},$$
  

$$R = -2\alpha x^{-\alpha}.$$

Since  $R = -2\alpha x^{-\alpha}$  then  $R^{(\alpha)} = 2\alpha^2 x^{-2\alpha}$  and  $R^{(\alpha\alpha)} = -4\alpha^3 x^{-3\alpha}$ . This implies

$$RR^{(\alpha)} = (-2\alpha x^{-\alpha})(2\alpha^2 x^{-2\alpha}) = -4\alpha^3 x^{-3\alpha} = R^{(\alpha\alpha)} \neq R.$$

That gives a contradiction.

**Case (2).** If  $W^2 = W$  then we have either W = 1 or W = 0. If W = 0 then we get a zero solution. On the other hand, if W = 1 then we have  $W^{(\alpha)} = 0$  and so we get,

$$R^{(\alpha\alpha)} \otimes W - RR^{(\alpha)} \otimes W^{2} = R \otimes W^{(\alpha)},$$
  

$$R^{(\alpha\alpha)} \otimes 1 - RR^{(\alpha)} \otimes 1 = R \otimes 0,$$
  

$$(R^{(\alpha\alpha)} - RR^{(\alpha)}) \otimes 1 = 0.$$

This gives that 1 = 0 or  $R^{(\alpha\alpha)} - RR^{(\alpha)} = 0$ , but  $1 \neq 0$  then  $R^{(\alpha\alpha)} - RR^{(\alpha)} = 0$ , which implies that  $R^{(\alpha\alpha)} = RR^{(\alpha)}$ . Similarly as above we get  $R = -2\alpha x^{-\alpha}$ .

Now, to verify that  $R \otimes W$  is a solution of (13), set W = 1 and  $R = -2\alpha x^{-\alpha}$  then

$$R^{(\alpha\alpha)} \otimes W - RR^{(\alpha)} \otimes W^2 = R^{(\alpha\alpha)} \otimes W - R^{(\alpha\alpha)} \otimes W^2$$
$$= R^{(\alpha\alpha)} \otimes (W - W^2).$$

Since  $W = W^2$  then we have,

$$R^{(\alpha\alpha)} \otimes W - RR^{(\alpha)} \otimes W^2 = R^{(\alpha\alpha)} \otimes 0$$
$$= 0$$
$$= R \otimes 0$$
$$= R \otimes W^{(\alpha)}.$$

Hence,  $u(x,t) = R \otimes W$ , where W(t) = 1 and  $R(x) = -2\alpha x^{-\alpha}$ , is the required atomic solution of (13).

#### 5 Conclusion

In this paper, we studied the existence of an analytic solution to the fractional Burgers equation

$$u_t^{(\alpha)} + u u_x^{(\alpha)} = u_x^{(\alpha\alpha)}.$$

We proved that an atomic solution exists for this equation.



# References

- [1] H. Bateman, Some recent researches on the motion of fluids. Mont. Weather Rev. 43, 163-170 (1915).
- [2] J. Burgers, A mathematical model illustrating the theory of turbulence. Adv. Appl. Mech. 1, 171-199 (1947).
- [3] A. Ali, L. Gardner and G. Gardner, A collocation method for Burgers equation using cubic splines. *Comp. Meth. Appl. Mech. Eng.* 100, 325-337 (1992).
- [4] I. Dag, D. Irk and B. Saka, A numerical solution of Burgers equation using cubic B-splines. *Appl. Math. Comput.* **163**, 199-211 (2005).
- [5] L. Gardner, G. Gardner and A. Dogan, A Petrov-Galerkin finite element scheme for Burgers equation. *Arab. J. Sci. Eng.* 22, 99-109 (1997).
- [6] S. Kutluay, A. Esen and I. Dag, Numerical solutions of the Burgers' equation by the least squares quadratic B-spline finite element method. J. Comp. Appl. Math. 167, 21-33 (2004).
- [7] M. Ramadan, T. El-Danaf and F. Abd Alaal, Numerical solution of Burgers equation using septic B-splines. *Chaos Soliton. Fract.* 26, 795-804 (2005).
- [8] K. R. Raslan, A collocation solution for Burgers equation using quadratic B-spline finite elements. *Int. J. Comput. Math.* **80**, 931-938 (2003).
- [9] T. El-Danaf and A. Hadhoud, Parametric spline functions for the solution of the one time fractional Burgers equation. *Appl. Math. Model.* 36, 4557-4564 (2012).
- [10] M. Inc, The approximate and exact solutions of the space and time fractional Burgers equations with initial conditions by variational iteration method. J. Math. Anal. Appl. 345, 476-484 (2008).
- [11] C. Li and Y. Wang, Numerical algorithm based on Adomian decomposition for fractional differential equations. *Comput. Math. App.* 57, 1672-1681 (2009).
- [12] S. Momani, Non-perturbative analytical solutions of the space- and time-fractional Burgers equations. *Chaos Solit. Fract.* 28, 930-937 (2006).
- [13] I. Podlubny, Fractional differential equations, Academic Press, USA, 1999.
- [14] Sh. Al-Sharif and A. Malkawi, Modification of conformable fractional derivative with classical properties. *Italian J. P. Appl. Math.* 44, 30-39 (2020).
- [15] R. Khalil, M. Al-horani, A. Yousef and M. Sababheh, A new definition of fractional derivative. J. Comp. Appl. Math. 264, 65-70 (2014).
- [16] W. Light and E. Cheney, Approximation theory in tensor product spaces, Lecture Note in Mathematics, 1169, Springer Verlag, New York, 1985.
- [17] M. Al-Khaleel, Sh. Al-Sharif and A. Al Jarrah, Atomic solution for certain Gardner equation. Symmetry 15(2), 440 (2023).
- [18] Sh. Al-Sharif, A. Al Jarrah and H. Almefleh, Exact solution of Burger's equation using tensor product technique. *Eur. J. Pure Appl. Math.* 15, 1444–1454 (2022).
- [19] R. Khalil, Sh. Al-Sharif and S. Khamis, Second order abstract Cauchy problem of conformable fractional type. Int. J. Nonlin. Anal. Appl. 13, 1143-1150 (2022).